Efficiency vs Dxy(PV)

0.8,

efficiency vs dxy(PV)

9
I
o
0 5 10 15 20
TP dxv(PV) (cm)
—_— 5 N: orlg na\ 10 Oevt
—— DOQMfitted:
—— B3 F:{ gpggﬁ é%)RTRZZ 1000evt
[ Efficiend =— pom-it ChEOK—SORTRZ5 TESTOUTLIERA_1000evt
S 1.2_
o [
= [
35 1-- e e L
> [
< [
g o8-
o L
L L
5 oebr - Fhibt s
0.4f
02f
L
o 4 .
T = HHH
g 11
ot Bt
0.9
998-06-04-02 0 02 04 06 0.8
TP dxy(PV) (cm)
Efficiency vs Dz(PV)
s 0'8: :
o .
§ 07 3
» .
= .
> .
[3) .
= .
o g -
o .
= .
o .

30

%530 0 10 20
TP dz(PV) (cm)
2

efficiency vs dz(PV)

Ratio

0.5 1
TP dz(PV) (cm)



	Contents
	Page 1


